1

REF. PART
NO.

NO.

KM 332
KM 329
KM 331
KM 349
KC 163
KM 383
KM 384
KM 350
KE 315
KE 334
KE 314
KE 322
KE 333
KE 308
KC 168
KC 166
KC 385
KC 162
KC 369

- DUNCAN MODELS EA 122 & EA 122C

DESCRIPTION
DELAY TIMER MODULE (120V)

CONTROL PANEL PARTS

S ——

POWER RELAY
FIXED INFINITE SWITCH (120V) O,
CORD STRAIN RELIEF
PILOT LIGHT ASM
4 FIBERGLASS SLEEVING ®\
6 FIBERGLASS SLEEVING
POWER SUPPLY CORD (9 Y10 3 ,
#10-32 x 1/2* TAMPERPROOF SCREW D )
#10-32 HEX NUT W/WASHER ®
#6-32 x 1/2° MACHINE SCREW 2
#6 STAR WASHER
#6-32 HEX NUT ,.
#8-32 x 1/4° MACHINE SCREW " o 7 - (8
6° CONNECTING WIRE, 16 GAUGE
4* CONNECTING WIRE, 16 GAUGE 8
6.4 WIRE COMBO, 16 GAUGE 11112013 S 5
6* CONNECTING WIRE, 12 GAUGE L2
6° CONNECTING WIRE, 12 GAUGE ’ 7
GOEE i
17 16 % (30
P —
ﬂ'
ELECTRICAL SCHEMATIC
FIXED
BFATE SWTCOM
13 T~
r M
7 ét
] = Bl
SAFLTY THER : ™ Z 0—
W@/ ; ? :
NMét— ; = U k
’ &
7 8 ,1—"-‘ :
N KiLi=STTER E tf \
— :r_, +N-H—
+!Uﬂ‘ __/ \- POWER RELAY




